CMSC 421 0101 QUIZ 3

(10 Minutes)

1. Which multithreading model is used on systems that do NOT support kernel threads? (One-to-one, Many-to-one, Many-to-many)

A: Many-to-one (1/2 credit for one-to-one)

2. What is the LAST register changed when performing a context switch?

A: Instruction Pointer (a.k.a. Program Counter or some similar sounding name)

3. What metric does using Shortest-Job-First (SJF) scheduling over First-come-first-served (FCFS) optimize?

A: Average waiting time

4. With respect to priority-based scheduling, differentiate between preemptive scheduling & non-preemptive scheduling.

A: Preemptive scheduling will interrupt a running task as soon as a higher priority task is available. Non-preemptive scheduling will wait for the current task to be switched out before scheduling the newly available high priority task.

